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2. Explain the relationship between cities and global GDP. s

- 3.R the ility of s in tropical zones to extreme /3

\ <J / heat events.
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A. A method for expressing linear equations in algebre
B. Amethod for calculating the area of a triangle

C. Amethed for solving systems of linear equations

i D. A method for finding the roots of a quadratic eguation
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4 Fj Identify the slope intercept form of a linear equation ~
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@ B. The y-intercept of the line
C. The x-intercept of the line
D D. The steepness of the line
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E m 2> § E . Explain the meaning of the slope and y-intercept in alinear
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e structure af an atom
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(| [ An atom is made up of protons, neutrens, and electrons. Each eloment s defined by its
Stemic aumbar, ot the numbar of protons i hat, because I has 3 ciflerent numbor it
Bahawes 50 difterently, wo Gall 2 Gifecant aiament, Protons and neulrons ara in the
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BAEHNHEES - Same aurber o rotons e elecions. Wass s compated by adking the emner o
Prolons and the number of newtrons. Charga is compuied by sublracting the number of
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callod long. An fan i mnwny chasgod if it rm more protons than elactrans and

There can be diferent isetopes

cr mmmn m: have u1 ferent mumbers of reutrons, ant the mass is sotermined by
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